

## NCL Clyde Presort Sale - March 10, 2026.

Tuesday, March 10, 2026 -- 09:00 AM

Pre-Sort

This is a live broadcast of a presort sale out of NCL Clyde. For more information call Jeannie at (780) 554-4939

### NOTES...

---

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	8	12	STRS	TAN	742	8906	TAN
2	2	10	6	STRS	TAN	657	3943	TAN
3	3	12	9	STRS	TAN	610	5486	TAN
4	4	14A	6	STRS	TAN	535	3211	TAN
5	5	7	5	STRS	TAN	484	2421	TAN
6	6	C9	13	STRS	CHAR	826	10744	CHAR
7	7	A7	15	STRS	JEWEL	823	12348	JEWELL
8	8	BP37	30	STRS	WIES	802	24049	WIESE
9	9	BP38	20	STRS	WIES	764	15288	WIESE
10	10	BP30	12	STRS	WIES	711	8536	WIESE
11	11	BP36	19	STRS	WIES	704	13367	WIESE
12	12	BP39	35	STRS	BLK	744	26051	BLK
13	13	BP40	39	STRS	BLK	670	26134	BLK
14	14	BP32	24	STRS	BLK	616	14794	BLK
15	15	BP31	20	STRS	BLK	550	10992	BLK
16	16	BP42	30	STRS	BLK	491	14719	BLK
17	17	21	13	STRS	BLK	412	5356	BLK
18	18	8W	24	STRS	TOLL	850	20399	TOLLEFSON
19	19	BP17	32	STRS	TOLL	754	24114	TOLLEFSON
20	20	A20	19	STRS	ROLP	618	11747	ROLPH
21	21	A6	20	STRS	JUBI	826	16526	JUBILEE
22	22	13W	66	STRS	JUBI	824	54377	JUBILEE
23	23	BP41	60	STRS	ZARU	707	42419	ZARUSKY
24	24	A2	14	STRS	ZARU	694	9712	ZARUSKY
25	25	11W	50	STRS	ZARU	613	30627	ZARUSKY
26	26	A11	17	STRS	IWAS	560	9513	IWASIW
27	27	14W	11	STRS	REGN	940	10337	REGNER
28	28	12W	15	STRS	REGN	805	12082	REGNER
29	29	30	9	STRS	REDX	747	6727	REDX
30	30	32	11	STRS	REDX	677	7443	REDX
31	31	34	10	STRS	REDX	605	6054	REDX
32	32	36	9	STRS	REDX	551	4956	REDX
33	33	38	7	STRS	REDX	499	3493	REDX
34	34	23	5	STRS	REDX	436	2179	REDX

35	35	7W	51	STRS	CLEA	694	35415	CLEARWATER
36	36	A34	17	STRS	CLEA	566	9622	CLEARWATER
37	37	BP25	32	STRS	REIM	775	24793	REIMER
38	38	A13	17	STRS	CHER	907	15426	CHERNIWCHAN
39	39	BP34	16	STRS	KALI	793	12688	KALINSKY
40	40	BP26	38	STRS	KALI	792	30090	KALINSKY
41	41	BP27	24	STRS	KALI	696	16709	KALINSKY
42	42	40	3	STRS	SIMM	753	2260	SIMM
43	43	42	6	STRS	SIMM	669	4015	SIMM
44	44	44	3	STRS	SIMM	621	1862	SIMM
45	45	48	2	STRS	SIMM	514	1029	SIMM
46	46	52	3	STRS	ANGU	702	2106	ANGU
47	47	54	9	STRS	ANGU	609	5477	ANGU
48	48	56	17	STRS	ANGU	550	9347	ANGU
49	49	58	8	STRS	ANGU	493	3943	ANGU
50	50	27	6	STRS	ANGU	417	2501	ANGU
51	51	BP35	18	STRS	ANGX	892	16060	ANGX
52	52	A4	36	STRS	ANGX	807	29068	ANGX
53	53	17	10	STRS	ANGX	345	3454	ANGX
54	54	57A	1	STRS	EXOT	1065	1065	EXOT
55	55	29	11	STRS	EXOT	961	10566	EXOT
56	56	31	7	STRS	EXOT	886	6200	EXOT
57	57	60	10	STRS	EXOT	812	8122	EXOT
58	58	62	5	STRS	EXOT	722	3609	EXOT
59	59	64	6	STRS	EXOT	635	3808	EXOT
60	60	33	12	STRS	EXOT	525	6296	EXOT
61	61	61A	6	STRS	EXOT	411	2468	EXOT
62	62	44B	1	STRS	EXOT	1245	1245	
63	63	37B	2	STRS	EXOT	999	1998	EXOT
64	64	41	5	STRS	EXOT	739	3694	EXOT
65	65	43	3	STRS	EXOT	621	1863	EXOT
66	66	45	2	STRS	EXOT	571	1142	EXOT
67	67	37A	3	STRS	EXOT	464	1393	EXOT
68	68	C4A	2	STRS	BRIT	798	1596	BRIT
69	69	C3A	2	STRS	BRIT	673	1346	BRIT
70	70	C2A	2	STRS	BRIT	556	1112	BRIT
71	71	C1A	1	STRS	BRIT	462	462	BRIT
72	72	C5A	1	STRS	BRIT	365	365	BRIT
73	73	4	1	STRS	SPEC	532	532	SPECKLE PARK
74	74	C3C	1	STRS	SPEC	477	477	SPECKLE
75	75	55	1	STRS	MXD	553	553	MXD
76	76	49A	1	STRS	MXD	435	435	MXD
77	77	67	1	STRS	MXD	318	318	MXD
78	78	63A	1	STRS	MXBY	264	264	MIX BABY

79	79	5D	3	STRS	DAIR	567	1700	
80	80	A9	12	BULL	RIVE	583	6996	RIVER COUNTRY
81	81	19B	2	BULL	ANGX	803	1606	ANGX
82	82	14B	3	BULL	ANGX	737	2210	ANGX
83	83	11	4	BULL	ANGX	664	2654	ANGX
84	84	16	3	BULL	ANGX	558	1675	ANGX
85	85	18	3	BULL	ANGX	438	1315	ANGX
86	86	19	2	BULL	ANGX	366	732	ANGX
87	87	65B	1	BULL	BRIT	554	554	BRITISH
88	88	63B	1	BULL	BRIT	402	402	BRITISH
89	89	72A	1	BULL	BRIT	356	356	BRITISH
90	90	68B	2	BULL	EXOT	930	1861	
91	91	82	6	BULL	MXD	648	3887	MXD
92	92	3	2	BULL	MXD	480	959	MXD
93	93	956B	9	HFRS	CHAR	730	6566	CHAR
94	94	A15	28	HFRS	CHAR	687	19245	CHAR
95	95	254	5	HFRS	CHAR	620	3099	CHAR
96	96	253	5	HFRS	CHAR	552	2760	CHAR
97	97	252	10	HFRS	CHAR	513	5127	CHAR
98	98	257	9	HFRS	CHAR	430	3866	CHAR
99	99	10W	30	HFRS	UGAN	843	25284	UGANECZ
100	100	9W	35	HFRS	UGAN	759	26548	UGANECZ
101	101	138	10	HFRS	BLK	844	8445	BLK
102	102	250	20	HFRS	BLK	788	15763	BLK
103	103	18W	51	HFRS	BLK	723	36872	BLK
104	104	958	31	HFRS	BLK	674	20891	BLK
105	105	BP33	39	HFRS	BLK	614	23948	BLK
106	106	246	19	HFRS	BLK	559	10620	BLK
107	107	A10	26	HFRS	BLK	499	12975	BLK
108	108	C8	16	HFRS	BLK	410	6568	BLK
109	109	A44	20	HFRS	BROU	598	11970	BROUWER
110	110	A40	10	HFRS	BROU	590	5898	BROUWER
111	111	A42	17	HFRS	BROU	515	8749	BROUWER
112	112	A32	9	HFRS	TOLL	828	7450	TOLLEFSON
113	113	A30	17	HFRS	TOLL	700	11892	TOLLEFSON
114	114	A28	11	HFRS	TOLL	689	7576	TOLLEFSON
115	115	A26	18	HFRS	ROLP	643	11572	ROLPH
116	116	A24	14	HFRS	ROLP	538	7537	ROLPH
117	117	17W	27	HFRS	CRES	710	19159	CRESCENT VIEW
118	118	C13	17	HFRS	REDX	725	12328	REDX
119	119	C15	23	HFRS	REDX	683	15708	REDX
120	120	C17	27	HFRS	REDX	610	16472	REDX
121	121	C19	8	HFRS	REDX	570	4560	REDX

122	122	C10	17	HFRS	REDX	490	8324	REDX
123	123	123	2	HFRS	REDX	416	833	REDX
124	124	A38	23	HFRS	CLEA	640	14725	CLEARWATER
125	125	A36	20	HFRS	CLEA	579	11582	CLEARWATER
126	126	A8	6	HFRS	MCK	706	4239	MCK FARMS
127	127	A14	12	HFRS	MCK	671	8051	MCK FARMS
128	128	A12	13	HFRS	MCK	646	8401	MCK FARMS
129	129	952	13	HFRS	KALI	798	10368	KALINSKY
130	130	954	15	HFRS	KALI	675	10123	KALINSKY
131	131	C27	4	HFRS	SIMM	718	2874	SIMM
132	132	C25	6	HFRS	SIMM	680	4077	SIMM
133	133	C23	3	HFRS	SIMM	598	1793	SIMM
134	134	240	13	HFRS	ANGU	862	11205	ANGU
135	135	244	3	HFRS	ANGU	803	2409	ANGU
136	136	242	15	HFRS	ANGU	733	11002	ANGU
137	137	241	16	HFRS	ANGU	660	10564	ANGU
138	138	142	6	HFRS	ANGU	611	3667	ANGU
139	139	141	18	HFRS	ANGU	550	9908	ANGU
140	140	140	11	HFRS	ANGU	484	5320	ANGU
141	141	956A	11	HFRS	ANGU	417	4586	ANGU
142	142	136F	2	HFRS	ANGX	1012	2023	ANGX
143	143	139	6	HFRS	ANGX	927	5563	ANGX
144	144	132F	11	HFRS	ANGX	831	9143	ANGX
145	145	119	2	HFRS	ANGX	668	1336	
146	146	16W	51	HFRS	ANGX	511	26038	
147	147	124F	9	HFRS	ANGX	435	3914	
148	148	243	13	HFRS	ANGX	354	4601	ANGX
149	149	121	5	HFRS	ANGX	277	1385	ANGX
150	150	129B	6	HFRS	EXOT	924	5543	EXOT
151	151	A16	54	HFRS	EXOT	852	46031	EXOT
152	152	19W	56	HFRS	EXOT	785	43982	EXOT
153	153	C18	18	HFRS	EXOT	722	12989	EXOT
154	154	C16	14	HFRS	EXOT	646	9041	EXOT
155	155	C14	11	HFRS	EXOT	566	6226	EXOT
156	156	C12	12	HFRS	EXOT	472	5663	EXOT
157	157	129A	4	HFRS	EXOT	428	1714	EXOT
158	158	256	2	HFRS	EXOT	320	640	EXOT
159	159	C37	13	HFRS	EXOT	783	10178	EXOT
160	160	C35	2	HFRS	EXOT	662	1323	EXOT
161	161	C33	2	HFRS	EXOT	595	1190	EXOT
162	162	C31	3	HFRS	EXOT	560	1680	EXOT
163	163	132	3	HFRS	EXOT	421	1264	EXOT
164	164	260	6	HFRS	BRIT	494	2964	BRIT

165	165	259	2	HFRS	BRIT	432	864	BRIT
166	166	130	1	HFRS	BRIT	332	332	BRIT
167	167	125S	2	HFRS	SPEC	544	1088	
168	168	251	2	HFRS	MXD	820	1639	MXD
169	169	266	7	HFRS	MXD	581	4068	MXD
170	170	122	5	HFRS	MXD	374	1868	MXD
171	171	134A	4	HFRS	MXD	555	2220	MXD
172	172	133A	5	HFRS	MXD	482	2411	MXD
173	173	131B	1	HFRS	SO12	1225	1225	SOUTH 12
174	174	C24	2	HFRS	SO11	1118	2236	SOUTH 11
175	175	265	9	HFRS	SO10	1032	9285	SOUTH 10
176	176	C34	10	HFRS	SOU9	941	9408	SOUTH 9
177	177	C32	6	HFRS	SOU8	880	5279	SOUTH 8
178	178	C30	1	HFRS	SOU7	786	786	SOUTH 7
179	179	C28	3	HFRS	SOU6	641	1924	SOUTH 6
180	180	136Y	1	HFRS	SO55	589	589	

**Total Head: 2290**

**Lot Detail Information**

---

Sequence #:	<b>1</b>	Lot #:	<b>1</b>
Pen #:	<b>8</b>	Consignor:	<b>TAN</b>
Head:	<b>12</b>	Average Weight:	<b>742</b>
Color:		Total Weight:	<b>8906</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>2</b>	Lot #:	<b>2</b>
Pen #:	<b>10</b>	Consignor:	<b>TAN</b>
Head:	<b>6</b>	Average Weight:	<b>657</b>
Color:		Total Weight:	<b>3943</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>3</b>	Lot #:	<b>3</b>
Pen #:	<b>12</b>	Consignor:	<b>TAN</b>
Head:	<b>9</b>	Average Weight:	<b>610</b>
Color:		Total Weight:	<b>5486</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>4</b>	Lot #:	<b>4</b>
Pen #:	<b>14A</b>	Consignor:	<b>TAN</b>
Head:	<b>6</b>	Average Weight:	<b>535</b>
Color:		Total Weight:	<b>3211</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>5</b>	Lot #:	<b>5</b>
Pen #:	<b>7</b>	Consignor:	<b>TAN</b>
Head:	<b>5</b>	Average Weight:	<b>484</b>
Color:		Total Weight:	<b>2421</b>
Sex:	<b>STRS</b>	Breed:	<b>TAN</b>

**Lot Detail Information**

---

Sequence #:	<b>6</b>	Lot #:	<b>6</b>
Pen #:	<b>C9</b>	Consignor:	<b>CHAR</b>
Head:	<b>13</b>	Average Weight:	<b>826</b>
Color:		Total Weight:	<b>10744</b>
Sex:	<b>STRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>7</b>	Lot #:	<b>7</b>
Pen #:	<b>A7</b>	Consignor:	<b>JEWELL</b>
Head:	<b>15</b>	Average Weight:	<b>823</b>
Color:		Total Weight:	<b>12348</b>
Sex:	<b>STRS</b>	Breed:	<b>JEWE</b>

**Lot Detail Information**

---

Sequence #:	<b>8</b>	Lot #:	<b>8</b>
-------------	----------	--------	----------

Pen #:	<b>BP37</b>	Consignor:	<b>WIESE</b>
Head:	<b>30</b>	Average Weight:	<b>802</b>
Color:		Total Weight:	<b>24049</b>
Sex:	<b>STRS</b>	Breed:	<b>WIES</b>

---

**Lot Detail Information**

Sequence #:	<b>9</b>	Lot #:	<b>9</b>
Pen #:	<b>BP38</b>	Consignor:	<b>WIESE</b>
Head:	<b>20</b>	Average Weight:	<b>764</b>
Color:		Total Weight:	<b>15288</b>
Sex:	<b>STRS</b>	Breed:	<b>WIES</b>

---

**Lot Detail Information**

Sequence #:	<b>10</b>	Lot #:	<b>10</b>
Pen #:	<b>BP30</b>	Consignor:	<b>WIESE</b>
Head:	<b>12</b>	Average Weight:	<b>711</b>
Color:		Total Weight:	<b>8536</b>
Sex:	<b>STRS</b>	Breed:	<b>WIES</b>

---

**Lot Detail Information**

Sequence #:	<b>11</b>	Lot #:	<b>11</b>
Pen #:	<b>BP36</b>	Consignor:	<b>WIESE</b>
Head:	<b>19</b>	Average Weight:	<b>704</b>
Color:		Total Weight:	<b>13367</b>
Sex:	<b>STRS</b>	Breed:	<b>WIES</b>

---

**Lot Detail Information**

Sequence #:	<b>12</b>	Lot #:	<b>12</b>
Pen #:	<b>BP39</b>	Consignor:	<b>BLK</b>
Head:	<b>35</b>	Average Weight:	<b>744</b>
Color:		Total Weight:	<b>26051</b>
Sex:	<b>STRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>13</b>	Lot #:	<b>13</b>
Pen #:	<b>BP40</b>	Consignor:	<b>BLK</b>
Head:	<b>39</b>	Average Weight:	<b>670</b>
Color:		Total Weight:	<b>26134</b>
Sex:	<b>STRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>14</b>	Lot #:	<b>14</b>
Pen #:	<b>BP32</b>	Consignor:	<b>BLK</b>
Head:	<b>24</b>	Average Weight:	<b>616</b>
Color:		Total Weight:	<b>14794</b>
Sex:	<b>STRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>15</b>	Lot #:	<b>15</b>
Pen #:	<b>BP31</b>	Consignor:	<b>BLK</b>
Head:	<b>20</b>	Average Weight:	<b>550</b>
Color:		Total Weight:	<b>10992</b>

Sex: **STRS** Breed: **BLK**

**Lot Detail Information**

---

Sequence #: **16** Lot #: **16**  
Pen #: **BP42** Consignor: **BLK**  
Head: **30** Average Weight: **491**  
Color: Total Weight: **14719**  
Sex: **STRS** Breed: **BLK**

**Lot Detail Information**

---

Sequence #: **17** Lot #: **17**  
Pen #: **21** Consignor: **BLK**  
Head: **13** Average Weight: **412**  
Color: Total Weight: **5356**  
Sex: **STRS** Breed: **BLK**

**Lot Detail Information**

---

Sequence #: **18** Lot #: **18**  
Pen #: **8W** Consignor: **TOLLEFSON**  
Head: **24** Average Weight: **850**  
Color: Total Weight: **20399**  
Sex: **STRS** Breed: **TOLL**

**Lot Detail Information**

---

Sequence #: **19** Lot #: **19**  
Pen #: **BP17** Consignor: **TOLLEFSON**  
Head: **32** Average Weight: **754**  
Color: Total Weight: **24114**  
Sex: **STRS** Breed: **TOLL**

**Lot Detail Information**

---

Sequence #: **20** Lot #: **20**  
Pen #: **A20** Consignor: **ROLPH**  
Head: **19** Average Weight: **618**  
Color: Total Weight: **11747**  
Sex: **STRS** Breed: **ROLP**

**Lot Detail Information**

---

Sequence #: **21** Lot #: **21**  
Pen #: **A6** Consignor: **JUBILEE**  
Head: **20** Average Weight: **826**  
Color: Total Weight: **16526**  
Sex: **STRS** Breed: **JUBI**

**Lot Detail Information**

---

Sequence #: **22** Lot #: **22**  
Pen #: **13W** Consignor: **JUBILEE**  
Head: **66** Average Weight: **824**  
Color: Total Weight: **54377**  
Sex: **STRS** Breed: **JUBI**

**Lot Detail Information**

---

Sequence #:	<b>23</b>	Lot #:	<b>23</b>
Pen #:	<b>BP41</b>	Consignor:	<b>ZARUSKY</b>
Head:	<b>60</b>	Average Weight:	<b>707</b>
Color:		Total Weight:	<b>42419</b>
Sex:	<b>STRS</b>	Breed:	<b>ZARU</b>

---

**Lot Detail Information**

Sequence #:	<b>24</b>	Lot #:	<b>24</b>
Pen #:	<b>A2</b>	Consignor:	<b>ZARUSKY</b>
Head:	<b>14</b>	Average Weight:	<b>694</b>
Color:		Total Weight:	<b>9712</b>
Sex:	<b>STRS</b>	Breed:	<b>ZARU</b>

---

**Lot Detail Information**

Sequence #:	<b>25</b>	Lot #:	<b>25</b>
Pen #:	<b>11W</b>	Consignor:	<b>ZARUSKY</b>
Head:	<b>50</b>	Average Weight:	<b>613</b>
Color:		Total Weight:	<b>30627</b>
Sex:	<b>STRS</b>	Breed:	<b>ZARU</b>

---

**Lot Detail Information**

Sequence #:	<b>26</b>	Lot #:	<b>26</b>
Pen #:	<b>A11</b>	Consignor:	<b>IWASIW</b>
Head:	<b>17</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>9513</b>
Sex:	<b>STRS</b>	Breed:	<b>IWAS</b>

---

**Lot Detail Information**

Sequence #:	<b>27</b>	Lot #:	<b>27</b>
Pen #:	<b>14W</b>	Consignor:	<b>REGNER</b>
Head:	<b>11</b>	Average Weight:	<b>940</b>
Color:		Total Weight:	<b>10337</b>
Sex:	<b>STRS</b>	Breed:	<b>REGN</b>

---

**Lot Detail Information**

Sequence #:	<b>28</b>	Lot #:	<b>28</b>
Pen #:	<b>12W</b>	Consignor:	<b>REGNER</b>
Head:	<b>15</b>	Average Weight:	<b>805</b>
Color:		Total Weight:	<b>12082</b>
Sex:	<b>STRS</b>	Breed:	<b>REGN</b>

---

**Lot Detail Information**

Sequence #:	<b>29</b>	Lot #:	<b>29</b>
Pen #:	<b>30</b>	Consignor:	<b>REDX</b>
Head:	<b>9</b>	Average Weight:	<b>747</b>
Color:		Total Weight:	<b>6727</b>
Sex:	<b>STRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>30</b>	Lot #:	<b>30</b>
Pen #:	<b>32</b>	Consignor:	<b>REDX</b>
Head:	<b>11</b>	Average Weight:	<b>677</b>

Color: Total Weight: **7443**  
Sex: **STRS** Breed: **REDX**

**Lot Detail Information**

---

Sequence #: **31** Lot #: **31**  
Pen #: **34** Consignor: **REDX**  
Head: **10** Average Weight: **605**  
Color: Total Weight: **6054**  
Sex: **STRS** Breed: **REDX**

**Lot Detail Information**

---

Sequence #: **32** Lot #: **32**  
Pen #: **36** Consignor: **REDX**  
Head: **9** Average Weight: **551**  
Color: Total Weight: **4956**  
Sex: **STRS** Breed: **REDX**

**Lot Detail Information**

---

Sequence #: **33** Lot #: **33**  
Pen #: **38** Consignor: **REDX**  
Head: **7** Average Weight: **499**  
Color: Total Weight: **3493**  
Sex: **STRS** Breed: **REDX**

**Lot Detail Information**

---

Sequence #: **34** Lot #: **34**  
Pen #: **23** Consignor: **REDX**  
Head: **5** Average Weight: **436**  
Color: Total Weight: **2179**  
Sex: **STRS** Breed: **REDX**

**Lot Detail Information**

---

Sequence #: **35** Lot #: **35**  
Pen #: **7W** Consignor: **CLEARWATER**  
Head: **51** Average Weight: **694**  
Color: Total Weight: **35415**  
Sex: **STRS** Breed: **CLEA**

**Lot Detail Information**

---

Sequence #: **36** Lot #: **36**  
Pen #: **A34** Consignor: **CLEARWATER**  
Head: **17** Average Weight: **566**  
Color: Total Weight: **9622**  
Sex: **STRS** Breed: **CLEA**

**Lot Detail Information**

---

Sequence #: **37** Lot #: **37**  
Pen #: **BP25** Consignor: **REIMER**  
Head: **32** Average Weight: **775**  
Color: Total Weight: **24793**  
Sex: **STRS** Breed: **REIM**

**Lot Detail Information**

---

Sequence #:	<b>38</b>	Lot #:	<b>38</b>
Pen #:	<b>A13</b>	Consignor:	<b>CHERNIWCHAN</b>
Head:	<b>17</b>	Average Weight:	<b>907</b>
Color:		Total Weight:	<b>15426</b>
Sex:	<b>STRS</b>	Breed:	<b>CHER</b>

**Lot Detail Information**

---

Sequence #:	<b>39</b>	Lot #:	<b>39</b>
Pen #:	<b>BP34</b>	Consignor:	<b>KALINSKY</b>
Head:	<b>16</b>	Average Weight:	<b>793</b>
Color:		Total Weight:	<b>12688</b>
Sex:	<b>STRS</b>	Breed:	<b>KALI</b>

**Lot Detail Information**

---

Sequence #:	<b>40</b>	Lot #:	<b>40</b>
Pen #:	<b>BP26</b>	Consignor:	<b>KALINSKY</b>
Head:	<b>38</b>	Average Weight:	<b>792</b>
Color:		Total Weight:	<b>30090</b>
Sex:	<b>STRS</b>	Breed:	<b>KALI</b>

**Lot Detail Information**

---

Sequence #:	<b>41</b>	Lot #:	<b>41</b>
Pen #:	<b>BP27</b>	Consignor:	<b>KALINSKY</b>
Head:	<b>24</b>	Average Weight:	<b>696</b>
Color:		Total Weight:	<b>16709</b>
Sex:	<b>STRS</b>	Breed:	<b>KALI</b>

**Lot Detail Information**

---

Sequence #:	<b>42</b>	Lot #:	<b>42</b>
Pen #:	<b>40</b>	Consignor:	<b>SIMM</b>
Head:	<b>3</b>	Average Weight:	<b>753</b>
Color:		Total Weight:	<b>2260</b>
Sex:	<b>STRS</b>	Breed:	<b>SIMM</b>

**Lot Detail Information**

---

Sequence #:	<b>43</b>	Lot #:	<b>43</b>
Pen #:	<b>42</b>	Consignor:	<b>SIMM</b>
Head:	<b>6</b>	Average Weight:	<b>669</b>
Color:		Total Weight:	<b>4015</b>
Sex:	<b>STRS</b>	Breed:	<b>SIMM</b>

**Lot Detail Information**

---

Sequence #:	<b>44</b>	Lot #:	<b>44</b>
Pen #:	<b>44</b>	Consignor:	<b>SIMM</b>
Head:	<b>3</b>	Average Weight:	<b>621</b>
Color:		Total Weight:	<b>1862</b>
Sex:	<b>STRS</b>	Breed:	<b>SIMM</b>

**Lot Detail Information**

---

Sequence #:	<b>45</b>	Lot #:	<b>45</b>
-------------	-----------	--------	-----------

Pen #:	<b>48</b>	Consignor:	<b>SIMM</b>
Head:	<b>2</b>	Average Weight:	<b>514</b>
Color:		Total Weight:	<b>1029</b>
Sex:	<b>STRS</b>	Breed:	<b>SIMM</b>

---

**Lot Detail Information**

Sequence #:	<b>46</b>	Lot #:	<b>46</b>
Pen #:	<b>52</b>	Consignor:	<b>ANGU</b>
Head:	<b>3</b>	Average Weight:	<b>702</b>
Color:		Total Weight:	<b>2106</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>47</b>	Lot #:	<b>47</b>
Pen #:	<b>54</b>	Consignor:	<b>ANGU</b>
Head:	<b>9</b>	Average Weight:	<b>609</b>
Color:		Total Weight:	<b>5477</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>48</b>	Lot #:	<b>48</b>
Pen #:	<b>56</b>	Consignor:	<b>ANGU</b>
Head:	<b>17</b>	Average Weight:	<b>550</b>
Color:		Total Weight:	<b>9347</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>49</b>	Lot #:	<b>49</b>
Pen #:	<b>58</b>	Consignor:	<b>ANGU</b>
Head:	<b>8</b>	Average Weight:	<b>493</b>
Color:		Total Weight:	<b>3943</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>50</b>	Lot #:	<b>50</b>
Pen #:	<b>27</b>	Consignor:	<b>ANGU</b>
Head:	<b>6</b>	Average Weight:	<b>417</b>
Color:		Total Weight:	<b>2501</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>51</b>	Lot #:	<b>51</b>
Pen #:	<b>BP35</b>	Consignor:	<b>ANGX</b>
Head:	<b>18</b>	Average Weight:	<b>892</b>
Color:		Total Weight:	<b>16060</b>
Sex:	<b>STRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>52</b>	Lot #:	<b>52</b>
Pen #:	<b>A4</b>	Consignor:	<b>ANGX</b>
Head:	<b>36</b>	Average Weight:	<b>807</b>
Color:		Total Weight:	<b>29068</b>

Sex: **STRS** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **53** Lot #: **53**  
Pen #: **17** Consignor: **ANGX**  
Head: **10** Average Weight: **345**  
Color: Total Weight: **3454**  
Sex: **STRS** Breed: **ANGX**

**Lot Detail Information**

---

Sequence #: **54** Lot #: **54**  
Pen #: **57A** Consignor: **EXOT**  
Head: **1** Average Weight: **1065**  
Color: Total Weight: **1065**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **55** Lot #: **55**  
Pen #: **29** Consignor: **EXOT**  
Head: **11** Average Weight: **961**  
Color: Total Weight: **10566**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **56** Lot #: **56**  
Pen #: **31** Consignor: **EXOT**  
Head: **7** Average Weight: **886**  
Color: Total Weight: **6200**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **57** Lot #: **57**  
Pen #: **60** Consignor: **EXOT**  
Head: **10** Average Weight: **812**  
Color: Total Weight: **8122**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **58** Lot #: **58**  
Pen #: **62** Consignor: **EXOT**  
Head: **5** Average Weight: **722**  
Color: Total Weight: **3609**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **59** Lot #: **59**  
Pen #: **64** Consignor: **EXOT**  
Head: **6** Average Weight: **635**  
Color: Total Weight: **3808**  
Sex: **STRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #:	<b>60</b>	Lot #:	<b>60</b>
Pen #:	<b>33</b>	Consignor:	<b>EXOT</b>
Head:	<b>12</b>	Average Weight:	<b>525</b>
Color:		Total Weight:	<b>6296</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>61</b>	Lot #:	<b>61</b>
Pen #:	<b>61A</b>	Consignor:	<b>EXOT</b>
Head:	<b>6</b>	Average Weight:	<b>411</b>
Color:		Total Weight:	<b>2468</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>62</b>	Lot #:	<b>62</b>
Pen #:	<b>44B</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>1245</b>
Color:		Total Weight:	<b>1245</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>63</b>	Lot #:	<b>63</b>
Pen #:	<b>37B</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>999</b>
Color:		Total Weight:	<b>1998</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>64</b>	Lot #:	<b>64</b>
Pen #:	<b>41</b>	Consignor:	<b>EXOT</b>
Head:	<b>5</b>	Average Weight:	<b>739</b>
Color:		Total Weight:	<b>3694</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>65</b>	Lot #:	<b>65</b>
Pen #:	<b>43</b>	Consignor:	<b>EXOT</b>
Head:	<b>3</b>	Average Weight:	<b>621</b>
Color:		Total Weight:	<b>1863</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>66</b>	Lot #:	<b>66</b>
Pen #:	<b>45</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>571</b>
Color:		Total Weight:	<b>1142</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>67</b>	Lot #:	<b>67</b>
Pen #:	<b>37A</b>	Consignor:	<b>EXOT</b>
Head:	<b>3</b>	Average Weight:	<b>464</b>

Color:		Total Weight:	<b>1393</b>
Sex:	<b>STRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>68</b>	Lot #:	<b>68</b>
Pen #:	<b>C4A</b>	Consignor:	<b>BRIT</b>
Head:	<b>2</b>	Average Weight:	<b>798</b>
Color:		Total Weight:	<b>1596</b>
Sex:	<b>STRS</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>69</b>	Lot #:	<b>69</b>
Pen #:	<b>C3A</b>	Consignor:	<b>BRIT</b>
Head:	<b>2</b>	Average Weight:	<b>673</b>
Color:		Total Weight:	<b>1346</b>
Sex:	<b>STRS</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>70</b>	Lot #:	<b>70</b>
Pen #:	<b>C2A</b>	Consignor:	<b>BRIT</b>
Head:	<b>2</b>	Average Weight:	<b>556</b>
Color:		Total Weight:	<b>1112</b>
Sex:	<b>STRS</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>71</b>	Lot #:	<b>71</b>
Pen #:	<b>C1A</b>	Consignor:	<b>BRIT</b>
Head:	<b>1</b>	Average Weight:	<b>462</b>
Color:		Total Weight:	<b>462</b>
Sex:	<b>STRS</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>72</b>	Lot #:	<b>72</b>
Pen #:	<b>C5A</b>	Consignor:	<b>BRIT</b>
Head:	<b>1</b>	Average Weight:	<b>365</b>
Color:		Total Weight:	<b>365</b>
Sex:	<b>STRS</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>73</b>	Lot #:	<b>73</b>
Pen #:	<b>4</b>	Consignor:	<b>SPECKLE PARK</b>
Head:	<b>1</b>	Average Weight:	<b>532</b>
Color:		Total Weight:	<b>532</b>
Sex:	<b>STRS</b>	Breed:	<b>SPEC</b>

---

**Lot Detail Information**

Sequence #:	<b>74</b>	Lot #:	<b>74</b>
Pen #:	<b>C3C</b>	Consignor:	<b>SPECKLE</b>
Head:	<b>1</b>	Average Weight:	<b>477</b>
Color:		Total Weight:	<b>477</b>
Sex:	<b>STRS</b>	Breed:	<b>SPEC</b>

**Lot Detail Information**

---

Sequence #:	<b>75</b>	Lot #:	<b>75</b>
Pen #:	<b>55</b>	Consignor:	<b>MXD</b>
Head:	<b>1</b>	Average Weight:	<b>553</b>
Color:		Total Weight:	<b>553</b>
Sex:	<b>STRS</b>	Breed:	<b>MXD</b>

**Lot Detail Information**

---

Sequence #:	<b>76</b>	Lot #:	<b>76</b>
Pen #:	<b>49A</b>	Consignor:	<b>MXD</b>
Head:	<b>1</b>	Average Weight:	<b>435</b>
Color:		Total Weight:	<b>435</b>
Sex:	<b>STRS</b>	Breed:	<b>MXD</b>

**Lot Detail Information**

---

Sequence #:	<b>77</b>	Lot #:	<b>77</b>
Pen #:	<b>67</b>	Consignor:	<b>MXD</b>
Head:	<b>1</b>	Average Weight:	<b>318</b>
Color:		Total Weight:	<b>318</b>
Sex:	<b>STRS</b>	Breed:	<b>MXD</b>

**Lot Detail Information**

---

Sequence #:	<b>78</b>	Lot #:	<b>78</b>
Pen #:	<b>63A</b>	Consignor:	<b>MIX BABY</b>
Head:	<b>1</b>	Average Weight:	<b>264</b>
Color:		Total Weight:	<b>264</b>
Sex:	<b>STRS</b>	Breed:	<b>MXBY</b>

**Lot Detail Information**

---

Sequence #:	<b>79</b>	Lot #:	<b>79</b>
Pen #:	<b>5D</b>	Consignor:	
Head:	<b>3</b>	Average Weight:	<b>567</b>
Color:		Total Weight:	<b>1700</b>
Sex:	<b>STRS</b>	Breed:	<b>DAIR</b>

**Lot Detail Information**

---

Sequence #:	<b>80</b>	Lot #:	<b>80</b>
Pen #:	<b>A9</b>	Consignor:	<b>RIVER COUNTRY</b>
Head:	<b>12</b>	Average Weight:	<b>583</b>
Color:		Total Weight:	<b>6996</b>
Sex:	<b>BULL</b>	Breed:	<b>RIVE</b>

**Lot Detail Information**

---

Sequence #:	<b>81</b>	Lot #:	<b>81</b>
Pen #:	<b>19B</b>	Consignor:	<b>ANGX</b>
Head:	<b>2</b>	Average Weight:	<b>803</b>
Color:		Total Weight:	<b>1606</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

**Lot Detail Information**

---

Sequence #:	<b>82</b>	Lot #:	<b>82</b>
-------------	-----------	--------	-----------

Pen #:	<b>14B</b>	Consignor:	<b>ANGX</b>
Head:	<b>3</b>	Average Weight:	<b>737</b>
Color:		Total Weight:	<b>2210</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>83</b>	Lot #:	<b>83</b>
Pen #:	<b>11</b>	Consignor:	<b>ANGX</b>
Head:	<b>4</b>	Average Weight:	<b>664</b>
Color:		Total Weight:	<b>2654</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>84</b>	Lot #:	<b>84</b>
Pen #:	<b>16</b>	Consignor:	<b>ANGX</b>
Head:	<b>3</b>	Average Weight:	<b>558</b>
Color:		Total Weight:	<b>1675</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>85</b>	Lot #:	<b>85</b>
Pen #:	<b>18</b>	Consignor:	<b>ANGX</b>
Head:	<b>3</b>	Average Weight:	<b>438</b>
Color:		Total Weight:	<b>1315</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>86</b>	Lot #:	<b>86</b>
Pen #:	<b>19</b>	Consignor:	<b>ANGX</b>
Head:	<b>2</b>	Average Weight:	<b>366</b>
Color:		Total Weight:	<b>732</b>
Sex:	<b>BULL</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>87</b>	Lot #:	<b>87</b>
Pen #:	<b>65B</b>	Consignor:	<b>BRITISH</b>
Head:	<b>1</b>	Average Weight:	<b>554</b>
Color:		Total Weight:	<b>554</b>
Sex:	<b>BULL</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>88</b>	Lot #:	<b>88</b>
Pen #:	<b>63B</b>	Consignor:	<b>BRITISH</b>
Head:	<b>1</b>	Average Weight:	<b>402</b>
Color:		Total Weight:	<b>402</b>
Sex:	<b>BULL</b>	Breed:	<b>BRIT</b>

---

**Lot Detail Information**

Sequence #:	<b>89</b>	Lot #:	<b>89</b>
Pen #:	<b>72A</b>	Consignor:	<b>BRITISH</b>
Head:	<b>1</b>	Average Weight:	<b>356</b>
Color:		Total Weight:	<b>356</b>

Sex: **BULL** Breed: **BRIT**

**Lot Detail Information**

---

Sequence #:	<b>90</b>	Lot #:	<b>90</b>
Pen #:	<b>68B</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>930</b>
Color:		Total Weight:	<b>1861</b>
Sex:	<b>BULL</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

---

Sequence #:	<b>91</b>	Lot #:	<b>91</b>
Pen #:	<b>82</b>	Consignor:	<b>MXD</b>
Head:	<b>6</b>	Average Weight:	<b>648</b>
Color:		Total Weight:	<b>3887</b>
Sex:	<b>BULL</b>	Breed:	<b>MXD</b>

**Lot Detail Information**

---

Sequence #:	<b>92</b>	Lot #:	<b>92</b>
Pen #:	<b>3</b>	Consignor:	<b>MXD</b>
Head:	<b>2</b>	Average Weight:	<b>480</b>
Color:		Total Weight:	<b>959</b>
Sex:	<b>BULL</b>	Breed:	<b>MXD</b>

**Lot Detail Information**

---

Sequence #:	<b>93</b>	Lot #:	<b>93</b>
Pen #:	<b>956B</b>	Consignor:	<b>CHAR</b>
Head:	<b>9</b>	Average Weight:	<b>730</b>
Color:		Total Weight:	<b>6566</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>94</b>	Lot #:	<b>94</b>
Pen #:	<b>A15</b>	Consignor:	<b>CHAR</b>
Head:	<b>28</b>	Average Weight:	<b>687</b>
Color:		Total Weight:	<b>19245</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>95</b>	Lot #:	<b>95</b>
Pen #:	<b>254</b>	Consignor:	<b>CHAR</b>
Head:	<b>5</b>	Average Weight:	<b>620</b>
Color:		Total Weight:	<b>3099</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>96</b>	Lot #:	<b>96</b>
Pen #:	<b>253</b>	Consignor:	<b>CHAR</b>
Head:	<b>5</b>	Average Weight:	<b>552</b>
Color:		Total Weight:	<b>2760</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

**Lot Detail Information**

---

Sequence #:	<b>97</b>	Lot #:	<b>97</b>
Pen #:	<b>252</b>	Consignor:	<b>CHAR</b>
Head:	<b>10</b>	Average Weight:	<b>513</b>
Color:		Total Weight:	<b>5127</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>98</b>	Lot #:	<b>98</b>
Pen #:	<b>257</b>	Consignor:	<b>CHAR</b>
Head:	<b>9</b>	Average Weight:	<b>430</b>
Color:		Total Weight:	<b>3866</b>
Sex:	<b>HFRS</b>	Breed:	<b>CHAR</b>

---

**Lot Detail Information**

Sequence #:	<b>99</b>	Lot #:	<b>99</b>
Pen #:	<b>10W</b>	Consignor:	<b>UGANECZ</b>
Head:	<b>30</b>	Average Weight:	<b>843</b>
Color:		Total Weight:	<b>25284</b>
Sex:	<b>HFRS</b>	Breed:	<b>UGAN</b>

---

**Lot Detail Information**

Sequence #:	<b>100</b>	Lot #:	<b>100</b>
Pen #:	<b>9W</b>	Consignor:	<b>UGANECZ</b>
Head:	<b>35</b>	Average Weight:	<b>759</b>
Color:		Total Weight:	<b>26548</b>
Sex:	<b>HFRS</b>	Breed:	<b>UGAN</b>

---

**Lot Detail Information**

Sequence #:	<b>101</b>	Lot #:	<b>101</b>
Pen #:	<b>138</b>	Consignor:	<b>BLK</b>
Head:	<b>10</b>	Average Weight:	<b>844</b>
Color:		Total Weight:	<b>8445</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>102</b>	Lot #:	<b>102</b>
Pen #:	<b>250</b>	Consignor:	<b>BLK</b>
Head:	<b>20</b>	Average Weight:	<b>788</b>
Color:		Total Weight:	<b>15763</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>103</b>	Lot #:	<b>103</b>
Pen #:	<b>18W</b>	Consignor:	<b>BLK</b>
Head:	<b>51</b>	Average Weight:	<b>723</b>
Color:		Total Weight:	<b>36872</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>104</b>	Lot #:	<b>104</b>
Pen #:	<b>958</b>	Consignor:	<b>BLK</b>
Head:	<b>31</b>	Average Weight:	<b>674</b>

Color:		Total Weight:	<b>20891</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>105</b>	Lot #:	<b>105</b>
Pen #:	<b>BP33</b>	Consignor:	<b>BLK</b>
Head:	<b>39</b>	Average Weight:	<b>614</b>
Color:		Total Weight:	<b>23948</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>106</b>	Lot #:	<b>106</b>
Pen #:	<b>246</b>	Consignor:	<b>BLK</b>
Head:	<b>19</b>	Average Weight:	<b>559</b>
Color:		Total Weight:	<b>10620</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>107</b>	Lot #:	<b>107</b>
Pen #:	<b>A10</b>	Consignor:	<b>BLK</b>
Head:	<b>26</b>	Average Weight:	<b>499</b>
Color:		Total Weight:	<b>12975</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>108</b>	Lot #:	<b>108</b>
Pen #:	<b>C8</b>	Consignor:	<b>BLK</b>
Head:	<b>16</b>	Average Weight:	<b>410</b>
Color:		Total Weight:	<b>6568</b>
Sex:	<b>HFRS</b>	Breed:	<b>BLK</b>

---

**Lot Detail Information**

Sequence #:	<b>109</b>	Lot #:	<b>109</b>
Pen #:	<b>A44</b>	Consignor:	<b>BROUWER</b>
Head:	<b>20</b>	Average Weight:	<b>598</b>
Color:		Total Weight:	<b>11970</b>
Sex:	<b>HFRS</b>	Breed:	<b>BROU</b>

---

**Lot Detail Information**

Sequence #:	<b>110</b>	Lot #:	<b>110</b>
Pen #:	<b>A40</b>	Consignor:	<b>BROUWER</b>
Head:	<b>10</b>	Average Weight:	<b>590</b>
Color:		Total Weight:	<b>5898</b>
Sex:	<b>HFRS</b>	Breed:	<b>BROU</b>

---

**Lot Detail Information**

Sequence #:	<b>111</b>	Lot #:	<b>111</b>
Pen #:	<b>A42</b>	Consignor:	<b>BROUWER</b>
Head:	<b>17</b>	Average Weight:	<b>515</b>
Color:		Total Weight:	<b>8749</b>
Sex:	<b>HFRS</b>	Breed:	<b>BROU</b>

**Lot Detail Information**

---

Sequence #:	<b>112</b>	Lot #:	<b>112</b>
Pen #:	<b>A32</b>	Consignor:	<b>TOLLEFSON</b>
Head:	<b>9</b>	Average Weight:	<b>828</b>
Color:		Total Weight:	<b>7450</b>
Sex:	<b>HFRS</b>	Breed:	<b>TOLL</b>

**Lot Detail Information**

---

Sequence #:	<b>113</b>	Lot #:	<b>113</b>
Pen #:	<b>A30</b>	Consignor:	<b>TOLLEFSON</b>
Head:	<b>17</b>	Average Weight:	<b>700</b>
Color:		Total Weight:	<b>11892</b>
Sex:	<b>HFRS</b>	Breed:	<b>TOLL</b>

**Lot Detail Information**

---

Sequence #:	<b>114</b>	Lot #:	<b>114</b>
Pen #:	<b>A28</b>	Consignor:	<b>TOLLEFSON</b>
Head:	<b>11</b>	Average Weight:	<b>689</b>
Color:		Total Weight:	<b>7576</b>
Sex:	<b>HFRS</b>	Breed:	<b>TOLL</b>

**Lot Detail Information**

---

Sequence #:	<b>115</b>	Lot #:	<b>115</b>
Pen #:	<b>A26</b>	Consignor:	<b>ROLPH</b>
Head:	<b>18</b>	Average Weight:	<b>643</b>
Color:		Total Weight:	<b>11572</b>
Sex:	<b>HFRS</b>	Breed:	<b>ROLP</b>

**Lot Detail Information**

---

Sequence #:	<b>116</b>	Lot #:	<b>116</b>
Pen #:	<b>A24</b>	Consignor:	<b>ROLPH</b>
Head:	<b>14</b>	Average Weight:	<b>538</b>
Color:		Total Weight:	<b>7537</b>
Sex:	<b>HFRS</b>	Breed:	<b>ROLP</b>

**Lot Detail Information**

---

Sequence #:	<b>117</b>	Lot #:	<b>117</b>
Pen #:	<b>17W</b>	Consignor:	<b>CRESCENT VIEW</b>
Head:	<b>27</b>	Average Weight:	<b>710</b>
Color:		Total Weight:	<b>19159</b>
Sex:	<b>HFRS</b>	Breed:	<b>CRES</b>

**Lot Detail Information**

---

Sequence #:	<b>118</b>	Lot #:	<b>118</b>
Pen #:	<b>C13</b>	Consignor:	<b>REDX</b>
Head:	<b>17</b>	Average Weight:	<b>725</b>
Color:		Total Weight:	<b>12328</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

**Lot Detail Information**

---

Sequence #:	<b>119</b>	Lot #:	<b>119</b>
-------------	------------	--------	------------

Pen #:	<b>C15</b>	Consignor:	<b>REDX</b>
Head:	<b>23</b>	Average Weight:	<b>683</b>
Color:		Total Weight:	<b>15708</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>120</b>	Lot #:	<b>120</b>
Pen #:	<b>C17</b>	Consignor:	<b>REDX</b>
Head:	<b>27</b>	Average Weight:	<b>610</b>
Color:		Total Weight:	<b>16472</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>121</b>	Lot #:	<b>121</b>
Pen #:	<b>C19</b>	Consignor:	<b>REDX</b>
Head:	<b>8</b>	Average Weight:	<b>570</b>
Color:		Total Weight:	<b>4560</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>122</b>	Lot #:	<b>122</b>
Pen #:	<b>C10</b>	Consignor:	<b>REDX</b>
Head:	<b>17</b>	Average Weight:	<b>490</b>
Color:		Total Weight:	<b>8324</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>123</b>	Lot #:	<b>123</b>
Pen #:	<b>123</b>	Consignor:	<b>REDX</b>
Head:	<b>2</b>	Average Weight:	<b>416</b>
Color:		Total Weight:	<b>833</b>
Sex:	<b>HFRS</b>	Breed:	<b>REDX</b>

---

**Lot Detail Information**

Sequence #:	<b>124</b>	Lot #:	<b>124</b>
Pen #:	<b>A38</b>	Consignor:	<b>CLEARWATER</b>
Head:	<b>23</b>	Average Weight:	<b>640</b>
Color:		Total Weight:	<b>14725</b>
Sex:	<b>HFRS</b>	Breed:	<b>CLEA</b>

---

**Lot Detail Information**

Sequence #:	<b>125</b>	Lot #:	<b>125</b>
Pen #:	<b>A36</b>	Consignor:	<b>CLEARWATER</b>
Head:	<b>20</b>	Average Weight:	<b>579</b>
Color:		Total Weight:	<b>11582</b>
Sex:	<b>HFRS</b>	Breed:	<b>CLEA</b>

---

**Lot Detail Information**

Sequence #:	<b>126</b>	Lot #:	<b>126</b>
Pen #:	<b>A8</b>	Consignor:	<b>MCK FARMS</b>
Head:	<b>6</b>	Average Weight:	<b>706</b>
Color:		Total Weight:	<b>4239</b>

Sex: **HFRS** Breed: **MCK**

**Lot Detail Information**

---

Sequence #: **127** Lot #: **127**  
Pen #: **A14** Consignor: **MCK FARMS**  
Head: **12** Average Weight: **671**  
Color: Total Weight: **8051**  
Sex: **HFRS** Breed: **MCK**

**Lot Detail Information**

---

Sequence #: **128** Lot #: **128**  
Pen #: **A12** Consignor: **MCK FARMS**  
Head: **13** Average Weight: **646**  
Color: Total Weight: **8401**  
Sex: **HFRS** Breed: **MCK**

**Lot Detail Information**

---

Sequence #: **129** Lot #: **129**  
Pen #: **952** Consignor: **KALINSKY**  
Head: **13** Average Weight: **798**  
Color: Total Weight: **10368**  
Sex: **HFRS** Breed: **KALI**

**Lot Detail Information**

---

Sequence #: **130** Lot #: **130**  
Pen #: **954** Consignor: **KALINSKY**  
Head: **15** Average Weight: **675**  
Color: Total Weight: **10123**  
Sex: **HFRS** Breed: **KALI**

**Lot Detail Information**

---

Sequence #: **131** Lot #: **131**  
Pen #: **C27** Consignor: **SIMM**  
Head: **4** Average Weight: **718**  
Color: Total Weight: **2874**  
Sex: **HFRS** Breed: **SIMM**

**Lot Detail Information**

---

Sequence #: **132** Lot #: **132**  
Pen #: **C25** Consignor: **SIMM**  
Head: **6** Average Weight: **680**  
Color: Total Weight: **4077**  
Sex: **HFRS** Breed: **SIMM**

**Lot Detail Information**

---

Sequence #: **133** Lot #: **133**  
Pen #: **C23** Consignor: **SIMM**  
Head: **3** Average Weight: **598**  
Color: Total Weight: **1793**  
Sex: **HFRS** Breed: **SIMM**

**Lot Detail Information**

---

Sequence #:	<b>134</b>	Lot #:	<b>134</b>
Pen #:	<b>240</b>	Consignor:	<b>ANGU</b>
Head:	<b>13</b>	Average Weight:	<b>862</b>
Color:		Total Weight:	<b>11205</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>135</b>	Lot #:	<b>135</b>
Pen #:	<b>244</b>	Consignor:	<b>ANGU</b>
Head:	<b>3</b>	Average Weight:	<b>803</b>
Color:		Total Weight:	<b>2409</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>136</b>	Lot #:	<b>136</b>
Pen #:	<b>242</b>	Consignor:	<b>ANGU</b>
Head:	<b>15</b>	Average Weight:	<b>733</b>
Color:		Total Weight:	<b>11002</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>137</b>	Lot #:	<b>137</b>
Pen #:	<b>241</b>	Consignor:	<b>ANGU</b>
Head:	<b>16</b>	Average Weight:	<b>660</b>
Color:		Total Weight:	<b>10564</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>138</b>	Lot #:	<b>138</b>
Pen #:	<b>142</b>	Consignor:	<b>ANGU</b>
Head:	<b>6</b>	Average Weight:	<b>611</b>
Color:		Total Weight:	<b>3667</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>139</b>	Lot #:	<b>139</b>
Pen #:	<b>141</b>	Consignor:	<b>ANGU</b>
Head:	<b>18</b>	Average Weight:	<b>550</b>
Color:		Total Weight:	<b>9908</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>140</b>	Lot #:	<b>140</b>
Pen #:	<b>140</b>	Consignor:	<b>ANGU</b>
Head:	<b>11</b>	Average Weight:	<b>484</b>
Color:		Total Weight:	<b>5320</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>141</b>	Lot #:	<b>141</b>
Pen #:	<b>956A</b>	Consignor:	<b>ANGU</b>
Head:	<b>11</b>	Average Weight:	<b>417</b>

Color:		Total Weight:	<b>4586</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGU</b>

---

**Lot Detail Information**

Sequence #:	<b>142</b>	Lot #:	<b>142</b>
Pen #:	<b>136F</b>	Consignor:	<b>ANGX</b>
Head:	<b>2</b>	Average Weight:	<b>1012</b>
Color:		Total Weight:	<b>2023</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>143</b>	Lot #:	<b>143</b>
Pen #:	<b>139</b>	Consignor:	<b>ANGX</b>
Head:	<b>6</b>	Average Weight:	<b>927</b>
Color:		Total Weight:	<b>5563</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>144</b>	Lot #:	<b>144</b>
Pen #:	<b>132F</b>	Consignor:	<b>ANGX</b>
Head:	<b>11</b>	Average Weight:	<b>831</b>
Color:		Total Weight:	<b>9143</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>145</b>	Lot #:	<b>145</b>
Pen #:	<b>119</b>	Consignor:	
Head:	<b>2</b>	Average Weight:	<b>668</b>
Color:		Total Weight:	<b>1336</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>146</b>	Lot #:	<b>146</b>
Pen #:	<b>16W</b>	Consignor:	
Head:	<b>51</b>	Average Weight:	<b>511</b>
Color:		Total Weight:	<b>26038</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>147</b>	Lot #:	<b>147</b>
Pen #:	<b>124F</b>	Consignor:	
Head:	<b>9</b>	Average Weight:	<b>435</b>
Color:		Total Weight:	<b>3914</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

---

**Lot Detail Information**

Sequence #:	<b>148</b>	Lot #:	<b>148</b>
Pen #:	<b>243</b>	Consignor:	<b>ANGX</b>
Head:	<b>13</b>	Average Weight:	<b>354</b>
Color:		Total Weight:	<b>4601</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

**Lot Detail Information**

Sequence #:	<b>149</b>	Lot #:	<b>149</b>
Pen #:	<b>121</b>	Consignor:	<b>ANGX</b>
Head:	<b>5</b>	Average Weight:	<b>277</b>
Color:		Total Weight:	<b>1385</b>
Sex:	<b>HFRS</b>	Breed:	<b>ANGX</b>

**Lot Detail Information**

Sequence #:	<b>150</b>	Lot #:	<b>150</b>
Pen #:	<b>129B</b>	Consignor:	<b>EXOT</b>
Head:	<b>6</b>	Average Weight:	<b>924</b>
Color:		Total Weight:	<b>5543</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>151</b>	Lot #:	<b>151</b>
Pen #:	<b>A16</b>	Consignor:	<b>EXOT</b>
Head:	<b>54</b>	Average Weight:	<b>852</b>
Color:		Total Weight:	<b>46031</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>152</b>	Lot #:	<b>152</b>
Pen #:	<b>19W</b>	Consignor:	<b>EXOT</b>
Head:	<b>56</b>	Average Weight:	<b>785</b>
Color:		Total Weight:	<b>43982</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>153</b>	Lot #:	<b>153</b>
Pen #:	<b>C18</b>	Consignor:	<b>EXOT</b>
Head:	<b>18</b>	Average Weight:	<b>722</b>
Color:		Total Weight:	<b>12989</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>154</b>	Lot #:	<b>154</b>
Pen #:	<b>C16</b>	Consignor:	<b>EXOT</b>
Head:	<b>14</b>	Average Weight:	<b>646</b>
Color:		Total Weight:	<b>9041</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>155</b>	Lot #:	<b>155</b>
Pen #:	<b>C14</b>	Consignor:	<b>EXOT</b>
Head:	<b>11</b>	Average Weight:	<b>566</b>
Color:		Total Weight:	<b>6226</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

**Lot Detail Information**

Sequence #:	<b>156</b>	Lot #:	<b>156</b>
-------------	------------	--------	------------

Pen #:	<b>C12</b>	Consignor:	<b>EXOT</b>
Head:	<b>12</b>	Average Weight:	<b>472</b>
Color:		Total Weight:	<b>5663</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>157</b>	Lot #:	<b>157</b>
Pen #:	<b>129A</b>	Consignor:	<b>EXOT</b>
Head:	<b>4</b>	Average Weight:	<b>428</b>
Color:		Total Weight:	<b>1714</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>158</b>	Lot #:	<b>158</b>
Pen #:	<b>256</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>320</b>
Color:		Total Weight:	<b>640</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>159</b>	Lot #:	<b>159</b>
Pen #:	<b>C37</b>	Consignor:	<b>EXOT</b>
Head:	<b>13</b>	Average Weight:	<b>783</b>
Color:		Total Weight:	<b>10178</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>160</b>	Lot #:	<b>160</b>
Pen #:	<b>C35</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>662</b>
Color:		Total Weight:	<b>1323</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>161</b>	Lot #:	<b>161</b>
Pen #:	<b>C33</b>	Consignor:	<b>EXOT</b>
Head:	<b>2</b>	Average Weight:	<b>595</b>
Color:		Total Weight:	<b>1190</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>162</b>	Lot #:	<b>162</b>
Pen #:	<b>C31</b>	Consignor:	<b>EXOT</b>
Head:	<b>3</b>	Average Weight:	<b>560</b>
Color:		Total Weight:	<b>1680</b>
Sex:	<b>HFRS</b>	Breed:	<b>EXOT</b>

---

**Lot Detail Information**

Sequence #:	<b>163</b>	Lot #:	<b>163</b>
Pen #:	<b>132</b>	Consignor:	<b>EXOT</b>
Head:	<b>3</b>	Average Weight:	<b>421</b>
Color:		Total Weight:	<b>1264</b>

Sex: **HFRS** Breed: **EXOT**

**Lot Detail Information**

---

Sequence #: **164** Lot #: **164**  
Pen #: **260** Consignor: **BRIT**  
Head: **6** Average Weight: **494**  
Color: Total Weight: **2964**  
Sex: **HFRS** Breed: **BRIT**

**Lot Detail Information**

---

Sequence #: **165** Lot #: **165**  
Pen #: **259** Consignor: **BRIT**  
Head: **2** Average Weight: **432**  
Color: Total Weight: **864**  
Sex: **HFRS** Breed: **BRIT**

**Lot Detail Information**

---

Sequence #: **166** Lot #: **166**  
Pen #: **130** Consignor: **BRIT**  
Head: **1** Average Weight: **332**  
Color: Total Weight: **332**  
Sex: **HFRS** Breed: **BRIT**

**Lot Detail Information**

---

Sequence #: **167** Lot #: **167**  
Pen #: **125S** Consignor:  
Head: **2** Average Weight: **544**  
Color: Total Weight: **1088**  
Sex: **HFRS** Breed: **SPEC**

**Lot Detail Information**

---

Sequence #: **168** Lot #: **168**  
Pen #: **251** Consignor: **MXD**  
Head: **2** Average Weight: **820**  
Color: Total Weight: **1639**  
Sex: **HFRS** Breed: **MXD**

**Lot Detail Information**

---

Sequence #: **169** Lot #: **169**  
Pen #: **266** Consignor: **MXD**  
Head: **7** Average Weight: **581**  
Color: Total Weight: **4068**  
Sex: **HFRS** Breed: **MXD**

**Lot Detail Information**

---

Sequence #: **170** Lot #: **170**  
Pen #: **122** Consignor: **MXD**  
Head: **5** Average Weight: **374**  
Color: Total Weight: **1868**  
Sex: **HFRS** Breed: **MXD**

**Lot Detail Information**

---

Sequence #:	<b>171</b>	Lot #:	<b>171</b>
Pen #:	<b>134A</b>	Consignor:	<b>MXD</b>
Head:	<b>4</b>	Average Weight:	<b>555</b>
Color:		Total Weight:	<b>2220</b>
Sex:	<b>HFRS</b>	Breed:	<b>MXD</b>

---

**Lot Detail Information**

Sequence #:	<b>172</b>	Lot #:	<b>172</b>
Pen #:	<b>133A</b>	Consignor:	<b>MXD</b>
Head:	<b>5</b>	Average Weight:	<b>482</b>
Color:		Total Weight:	<b>2411</b>
Sex:	<b>HFRS</b>	Breed:	<b>MXD</b>

---

**Lot Detail Information**

Sequence #:	<b>173</b>	Lot #:	<b>173</b>
Pen #:	<b>131B</b>	Consignor:	<b>SOUTH 12</b>
Head:	<b>1</b>	Average Weight:	<b>1225</b>
Color:		Total Weight:	<b>1225</b>
Sex:	<b>HFRS</b>	Breed:	<b>SO12</b>

---

**Lot Detail Information**

Sequence #:	<b>174</b>	Lot #:	<b>174</b>
Pen #:	<b>C24</b>	Consignor:	<b>SOUTH 11</b>
Head:	<b>2</b>	Average Weight:	<b>1118</b>
Color:		Total Weight:	<b>2236</b>
Sex:	<b>HFRS</b>	Breed:	<b>SO11</b>

---

**Lot Detail Information**

Sequence #:	<b>175</b>	Lot #:	<b>175</b>
Pen #:	<b>265</b>	Consignor:	<b>SOUTH 10</b>
Head:	<b>9</b>	Average Weight:	<b>1032</b>
Color:		Total Weight:	<b>9285</b>
Sex:	<b>HFRS</b>	Breed:	<b>SO10</b>

---

**Lot Detail Information**

Sequence #:	<b>176</b>	Lot #:	<b>176</b>
Pen #:	<b>C34</b>	Consignor:	<b>SOUTH 9</b>
Head:	<b>10</b>	Average Weight:	<b>941</b>
Color:		Total Weight:	<b>9408</b>
Sex:	<b>HFRS</b>	Breed:	<b>SOU9</b>

---

**Lot Detail Information**

Sequence #:	<b>177</b>	Lot #:	<b>177</b>
Pen #:	<b>C32</b>	Consignor:	<b>SOUTH 8</b>
Head:	<b>6</b>	Average Weight:	<b>880</b>
Color:		Total Weight:	<b>5279</b>
Sex:	<b>HFRS</b>	Breed:	<b>SOU8</b>

---

**Lot Detail Information**

Sequence #:	<b>178</b>	Lot #:	<b>178</b>
Pen #:	<b>C30</b>	Consignor:	<b>SOUTH 7</b>
Head:	<b>1</b>	Average Weight:	<b>786</b>

Color:		Total Weight:	<b>786</b>
Sex:	<b>HFRS</b>	Breed:	<b>SOU7</b>

**Lot Detail Information**

---

Sequence #:	<b>179</b>	Lot #:	<b>179</b>
Pen #:	<b>C28</b>	Consignor:	<b>SOUTH 6</b>
Head:	<b>3</b>	Average Weight:	<b>641</b>
Color:		Total Weight:	<b>1924</b>
Sex:	<b>HFRS</b>	Breed:	<b>SOU6</b>

**Lot Detail Information**

---

Sequence #:	<b>180</b>	Lot #:	<b>180</b>
Pen #:	<b>136Y</b>	Consignor:	
Head:	<b>1</b>	Average Weight:	<b>589</b>
Color:		Total Weight:	<b>589</b>
Sex:	<b>HFRS</b>	Breed:	<b>SO55</b>